P06 station #30 (V2) Figure 3
U-err std: 0.040 median(U-err) [r/b: down-/up-cast]

U

oce
0
20 L 0.1 20
bl
)
-10 ‘h‘{ﬂ/‘;‘ 0.05 10 = 500
H* i * A=
c 0 al []° c 0 £
m i i m o
w0 il §oos 10 & 1000
b w
20 f' 0. -20
Mﬂ 01 1500 ‘e
100 -0.64.0200.02.04 100
Super Ensemble # Residual [m/s] EQ/sembIe #
V-err std: 0.040 median(V-err) [r/b: down-/up-c%st] oce
| 0.1 20 | /i
\‘ il L] L]
0.05 10 — 500 w
* SIS £ '
= 0 c 0 <
0 o0 ot
0.05 -10 8 1000
0.1 -20
1500 -
100 -0.68.0200.02.04 100 300
Super Ensemble # Residual [m/s]

Ensemble #

0.4

0.2

-0.2

-0.4



